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3.3.1-2
No.1
PO
H e, P+ P Ce e
) (kN D) (kN/  ?)
8.0 66.6 1.245 79.1 0.46 1.22 -1
Ac
7.3 161.1 1.605 173.6 0.64 0.58 -2
Dc
1.80 1.8
3.3.1-5
3.3.1-3
No.2
PO
H e, P+ P Ce o
) (kN D) (kN/ 2
5.5 41.0 1.087 51.6 0.36 0.95 -1
5.5 74.5 1.396 85.1 0.53 0.70 -2
5.5 108.1 1.975 118.7 1.03 0.77 -3
Ac 5.5 141.6 1.975 152.2 1.01 0.59 -4
5.6 175.5 1.518 186.1 0.72 0.41 -5
2.2 198.8 1.962 209.4 0.88 0.15 -6
3.57 3.6
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No.3
I:)0
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) (kN/  2) (kN/  2)

1.9 25.4 0.776 32.8 0.22 0.26 -1
Acl

4.0 78.5 1.228 85.9 0.46 0.32 -2

5.5 107.5 2.077 114.9 0.99 0.51 -3
Ac?2

5.6 141.3 1.874 148.7 0.92 0.40 -4
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3.3.1-5 3.3.1-7
3.3.1-5
No.1
I:)0
H e, P+ P Ce om
) (kN7 ?) (kN/_2)
8.0 66.6 1.245 87.9 0.46 1.98 -1
Ac
7.3 161.1 1.605 182.4 0.64 0.97 -2
Dc
2.95 3.0
3.3.1-5
3.3.1-6
No.2
I:)0
H e, P+ P Ce on
(@) (kN D) (kN7 D)
5.5 41.0 1.087 49.0 0.36 0.73 -1
5.5 74.5 1.396 82.5 0.53 0.54 -2
5.5 108.1 1.975 116.1 1.03 0.59 -3
Ac 5.5 141.6 1.975 149.6 1.01 0.45 -4
5.6 175.5 1.518 183.5 0.72 0.31 -5
2.2 198.8 1.962 206.8 0.88 0.11 -6
2.73 2.7
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No.3
I:)O

H e, P+ P Ce o

(D) (kN/ D (kN/ 2

1.9 25.4 0.776 32.3 0.22 0.25 -1
Acl

4.0 78.5 1.228 85.4 0.46 0.30 -2

5.5 107.5 2.077 114 .4 0.99 0.48 -3
Ac?2

5.6 141.3 1.874 148.2 0.92 0.37 -4

1.40 1.4
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